Series HRK/1 SET-3

e 32/1/3

T 4. Tlieeff sIe I ITW-fEdeh o Ja-

Roll No. 78w .

Candidates must write the Code on
the title page of the answer-book.

o FHUAT S R A 39 Te-u H giga g8 11 + 2 A=l E

o JH-TF § qIfed TY IR I T HE TR hl BH IW-GEH ok TE@-I8 T
fag |

o FHYAT S B A 6 39 TH-0 H 30 T 2|

« THUAT T HT I TTEAT I[E FHE 8 U5, T97 T hA(eh a9 fod |

* 3O YH-TF HI UG @ fow 15 fie 1 v fean o 31 A -u 6 faa gt |®
10.15 &t foRaT M@ 10.15 91 & 10.30 & T B hadd TH-T Sl TG AR
39 7afe o R o IT-Yedeht W S I Tl for

» Please check that this question paper contains 11 printed pages + 2 maps.

* Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

* Please check that this question paper contains 30 questions.
* Please write down the Serial Number of the question before attempting it.

* 15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book
during this period.

Hehford qaet - 11
SUMMATIVE ASSESSMENT - 11

NS ERERIE
SOCIAL SCIENCE

e am7g - 3 92 ] [ STEIETT 37 : 90

Time allowed : 3 hours | [ Maximum marks : 90

[P.T.O.




qraT= 3337

(i) 39 Fe7-97 4 FcT 30 397 & | G4t 357 S7fHard 81

(ii) Je9% J97 & 3% 393 G [T 1T 8/

(iii) T¥7 G&IT 1 T 8 T 37ld TG~ 7 &1 Fe% F97 1 3% FT1 & |
574 @ J% T F I 30 F1551 @ 314 787 51771 T |

(iv) 97 G&IT 9 & 20 7% J9% J97 3 3% F1 & | 574 & Jedo 97 7
3T 80 37551 @ 3718 F7 781 817 F13T |

(v) I57 G&IT 21 G 28 TF 9% J37 5 3% F1 & | 578 @ IA% J57 F
3T 120 77551 G 3717 7 787 5141 F115T |

(vi) T¥7 G&IT 29 3R 30 a8/ 3R YT & FrHfaT daei 397 3-3

3F @ & 5% [ I & 18, HHF] F FW-GIWT# @ e 7e9)
T Flrg/

General Instructions :
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(i) The question paper has 30 questions in all. All questions are
compulsory.

(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are Very Short Answer
Questions. Each question carries 1 mark. Answers to these
should not exceed 30 words.

(iv) Questions from serial number 9 to 20 are 3 marks questions.
Answers of these questions should not exceed 80 words
each.

(v) Questions from serial number 21 to 28 are 5 marks questions.
Answers of these questions should not exceed 120 words
each.

(vi) Question number 29 and 30 are map questions of 3 marks
each from History and Geography both. After completion,
attach the maps inside your answer-book.
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1. 1932 ¥ form wwsiid & 3t=aid 9RdE ‘sfid =’ =1 g 3K s
faremeft uftygi 7 stmfera ©ie fireff ? 1
Under which agreement the Indian ‘Depressed Classes’ got

reserved seats in the Provincial and Central Legislative Councils in

19327

2. ‘qd-ufvaet e’ o afTet BR o T w1 AW ffE | 1

Name the western terminal station of ‘East-West Corridor.’

3. SUNIHI o T o HATIHR 1 hig T 3T ST | 1

Give any one example of consumer’s ‘right to choose.’

4. ‘SfcAfoan S g5, o1 TET HRO T HINT | 1

Explain the main reason for ‘Bolivia Water War.’

5. af o feret et fasTmT & S -heral s gErT I T =Ted 8,
Tl 3719 Toher SRR T SN T ¢ 1

If you want to extract information about the functions of any

government department, which right would you exercise ?

6. ‘TETE-THgE 1 fHT0T HH BT R ? 1

How do ‘pressure groups’ form ?
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7. WA % Torel Uk a1 -TE 1 IETE IfSIT ST TSHIfdeh & sl Th
TG % &9 H i Hal R | 1

Give an example of any ‘pressure group’ of India which functions

as a branch of ‘political party.’

8. STFTIHATST o Srel AN H Pt THET hl IR I | 1

Highlight the inherent problem in double coincidence of wants.

9, ‘I fafa o TE @eA B | o 9o e Sl gfE Sife | 3x1=3

“Banks are efficient medium of exchange.” Support the statement

with arguments.

10. TTTfeF AIF W IHEAN AEIAT. o HRUT IS fohedl o9 THmel shl T8
hifeTT | 3x1=3

Explain any three effects of ‘Non-Cooperation Movement’ on the

economic front.

11. 9Rd H IUHIAT JTEITH & TIRH BF & ol i swron o1 fagamor
i | 3x1=3

Analyse any three reasons for the beginning of the consumer

movement in India.
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12. ST qAT G131 Toh T § O TIH W A -1 ST o To1e qiEe

13.

14.

15.

16.

o i Td GeTH G1ed i A © ¢ IS dfed T8 IS | 3x1=3

Why do the movement of goods and services from one place to
another require fast and efficient means of transport ? Explain with

examples.

TS TR IR MEIeH; TsHIfd it fohe TR ganiforg shtd & 7 3arewon
Tfed wg HfT | 3x1=3
How do the pressure groups and movements influence politics ?

Explain with examples.

AT JMEAT o R TPATE 1 TR S § leh hef1aty, Tidl ud
ot sifa % FTRE 1 godie I | 3x1=3
Evaluate the contribution of folklore, songs, popular prints etc., in

shaping the nationalism during freedom struggle.

SARATH TR hH ‘I TR g ¢ 3TN Fid T8 Hifs | 3x1=3

How is ‘democratic government’ a ‘legitimate government’ ?

Explain with examples.

A ¥ Tilg 3% il SAifewn-gras v A forl diF fomiwaredt =
ol hifST | 3x1=3
Describe any three characteristics of ‘Odisha-Jharkhand belt” of

iron ore in India.
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17. Teha %l SR S ATet Tohrel i Hodl ol forgeryor shif |

Analyse any three values that make democracy better.

18. Y quT I Y IRETTek fedfean 1 SeTen gry wum Shifs |

Explain with examples the interdependence of agriculture and

industries.

19. 3YNSI, IR &d THI ‘gadsw Fonar’ o foiw 41 shed 8 7 o &
Torgermor Shifsiu |

Why do lenders ask for ‘collateral” while lending ? Analyse the

reasons.

20. SrEfet smifaemtiean g Bt ot § amfEes qee Y 9TeHT 9aT A
o forw 33T TN foReelf <ff shawt @ auid fifse |
o
forraam W Bt o wes o g fomraaTiiE it fSreht o e1e feneed
o SIeetTdl w1 9ui ife |

Describe any three steps taken by the French revolutionaries to

create a sense of collective identity amongst the French people.

Or
Describe any three changes that came in the life of Vietnamese

after the colonisation of Vietnam by the French.
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21. 9Rd H TSHITG® gl § G aF & fofe fore 7o fom=di atfer somei
Fuiq FIfT | 5%x1=5

Describe any five efforts made to reform political parties in India.

22. WA o 928 JEN & THE fohedl a1 S I ohl T8 hifsTe | T
geeH Hifd & formal i1 3ewal shl et i | 2+3=5

Explain any two main challenges faced by the jute industry in

India. Explain any three objectives of National Jute Policy.

23. ‘ORIt <91 & Aiidfen fohre o are-wny I i FiN & fowm #
SGTaT Seil 7 | o shT STt |ied e hifse | 5

‘Indian Railways accelerates the economic life of the country as
well as the development of industry and agriculture.” Support the

statement with examples.

24. “‘weren el o e SR oS’ Y AL % IR H ST Heigl
ot e oft |7 e Sl g hifs | 5x1=5

“Plantation ~ workers had their own understanding of
Mahatma Gandhi’s ideas and the notion of ‘Swaraj’.” Support the

statement.

25. TSI gl o THIE TE A Sl 7@ HT | 5

Examine the main ‘challenges’ before ‘political parties.’
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26. JvdisRtor K Al w1 @@ o ° WeNfiehl % ded @ 9uiH
Fifsre | 5%1=5

Describe the contribution of technology in promoting the process

of globalisation.

27. ‘IUARRIST H FishT Wi ¥ & SUMIhT SATeia Tl & FehdT & |
e i gfY HIf | 5x1=5

‘Consumer movement can be effective only with the consumer’s

active involvement.” Support the statement.

28. T 1815 W ‘T weie Y BSte forem it ? fomem @Y’ & g
forT T wg@ afterd Al s et Fifse | 1+4=5
arera
forraam & mgrvars ot wreeT w S e 4 gre-gred’
TG sl ferent =T fergerson shifsre |

Who hosted ‘Vienna Congress’ in 1815 ? Analyse the main
changes brought by the ‘Vienna Treaty.’

Or

Analyse the role of ‘Hoa-Hao’ movement to arouse anti-imperialist

sentiments in Vietnam.

29. 9 @& A, B 3R C, WA & feu MU ueHifaes W@r-vHfes | 3ifehd
fopu T ¥ | 37 el w1 FEfaRad SRR Y gERdT ¥ TeeT 3R
3ok Tl I AHE W @i 78 WEreh ) fafge 3x1=3
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A. ‘THEIN ATEIAH hi I19H o ¥ T2 €M |
B. 9% T W&l foREHI 1 HemIE I g ol |

C. 9% TIM S8l W9 UL FE T ATATH 311 o |

Three features A, B and C are marked on the given political outline
map of India. Identify these features with the help of the following
information and write their correct names on the lines marked on

the map :

A. The place, related to the calling off the ‘Non-Cooperation

Movement.’
B. The place where the ‘Peasant’s Satyagraha’ was started.

C. Name the place where ‘Indian National Congress’ session was

held.

e : Fefafad v wae givarfam ahenfdat & oo s@ @@ 29 &

MR E

(29.1) ITTEAN AETH H 99H o T TG THE HT AW
fetfaa |

(29.2) TSRIG § 98 A A1 TIH 7, W&l haHl 4 geme’ Iy
EZIRIN

(29.3) 3G TIH F1 99 fARGT F&T 1927 ¥ IRAT TEE HEG H
ST g AT |
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Note : The following questions are for the Visually Impaired

Candidates only, in lieu of Q. No. 29 :

(29.1) Name the place related to the calling off the Non-

Cooperation Movement.

(29.2) Which 1is the place where the peasants started

‘Satyagraha’ in Gujarat ?

(29.3) Name the place where Indian National Congress session

was held in 1927.

30. WA % feu U TeHifos War-amtas 8 Fefafea o swre el @
FITTET 3TN ek A forfiau -

A. G| — AIRI-3E91d heg

B. ®Edl - TG TR 9O
C. TSUARE — YT SIS ITeh

On the given political outline map of India locate and label the

following with appropriate symbols :

A. Salem — Iron and Steel Centre
B. Kandla — Major Sea Port

C. Hyderabad - Software Technology Park
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Note :
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frfafad w1 shae givantam wienfet & fou w1 9@ 30 &

WA WE:

(30.1) afHeHTg | fedra 1foersh SAett g 1 W foifae |
(30.2) ITfee # FH o1 @ T I fra © 7

(30.3) MY AreT 35 @9’ forg s H fea 7 7

The following questions are for the Visually Impaired

Candidates only in lieu of Q. No. 30 :
(30.1) Name the Nuclear Plant located in Tamil Nadu.
(30.2) Which is the major Sea Port located in Odisha.

(30.3) In which state is Durgapur ‘Iron and Steel Plant’

located ?
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